
Choose a Strategy – Multiplication and Division 
 

• Look at the following calculations. Choose the ones which you can do in your head or with a 
jotting and calculate the answers. 
 
 

48 ÷ 4 = 60 ÷ 3 = 90 ÷ 6 = 

98 ÷ 5 = 92 ÷ 4 = 80 ÷ 8 = 

80 ÷ 4 = 48 ÷ 3 = 77 ÷ 3 = 

65 ÷ 5 = 85 ÷ 5 = 100 ÷ 5 = 

69 ÷ 3 = 160 ÷ 8 = 104 ÷ 4 = 

 
 
• For the calculations that are left, use division by grouping on a number line (chunking) to find the 

answer. 
 

Mathematics - Planning Support 
© Lancashire County Council (2015)




